B 3 & 6D sg K2 BME &
ot 9 EREANS
35 €38 B B R A

~3H AR (R 2 NEE)

HRAFR log1 (r-3)(v+6) > 2wy ATH v
AR — 8 B x fE R )

#) = (1085 1) (g o)

EERKE? RRARMERHMT?

uxabc;g/ﬁ*—?/%0<abc< =BT RE Xk FH

A
c(1—=b)z* — (1 —a—b—c+2bc)r +b(l—c)=0

AARAER X B R # -

RN BPIES R RRR kRS Lo AR bR
%%%T,@ﬁlﬁﬁi ek st o b NSRBI S
A PIMMES o AR EA R ENBEART 945 TF 7
18 R A

(1) NAdH Y4 > TROBRA 2| R E a4k F BT ?
(2) AN FHPIBAERBF DB REGE AT » AR E & 548
SRt e Hk R B feT 7

BE—Wper Ty =8r R E—25 N(10,0) - & 404
N BBRESTAE—B [y E45mdnee 1 2B [ A Hi4a &£

i BRI B AR R s T 69 TREE 0 RIE [y 89 F 2 A
ﬁ?@m%%iﬁ%ﬁQ(ﬁ R ar Ty 8 Ty Aainn
—2 Py AR g T @PH s Ty i@ P ey
45 )

2 F2 K, 2cos? w—sinx+a:04§:0§$§%ﬂ NieAE — %
o BlHE o 2 AE BT



A AR (FReFR] 120 48)
—~ WTEAT EZAN ABC thE S 4E % (2,1) > A Bheh

oY

2% (5,2) R B BhagAiE A L ’

Y

B
A(5,2)
(2,1)
7 |

C

ERmmmE y =22 +2r—a 8 y=—2>+ 122+ (20— 32) B4 TR
BAEHEK ar—2y=4 920 A ¥R oHBEZX (2) -

#&# f(x) = (V3sinz —cosz)cosz,0 <z <7m° f£x=a
B A i R M > R EH (o, M) = 3) o

o, 0 BAFFEX logyr +1log,2—3=0 aydR > 8] log, 0+
logsa = (4) o

FLRMABAEER T FHERBENALMRT - LHERT
BBy SUYUANER - ZF ¥ ALLELERRACAMKE 2
REEBOHERL (5 (ApHET) -

UTFR3AF L -A - TORHEE b BEIERZ ELE
Eg:

¥ 40,49,92, 20,68, 56, 70,97, 93,18, 19, 65, 58, 34, 3.

Z, : 155,164,207, 135,183, 171, 185, 212, 208, 133, 134, 180, 173, 149, 118.

7 - 80,98, 184,40,136,112, 140, 194, 186, 36, 38, 130, 116, 68, 6.
T 185,103, 189,45,141, 117,145,199, 191, 41,43, 135,121, 73, 11.
THIRANE G EBIDRMGE E B4 0 e EH 2 (6)
THE)

(A) FEAMLEHETHERELRE
) PERAGHETHG EHME
) FEARTEHEETWZELRE
) LER ARG EEN G RS
) LR T EEMRE LS

(B
(C
(D
(E



AR

(F) mEf THEHEEHRELRE
(C) mEHEHEFNHEH L RBYE

ER YA RGEES L # Ly Ly 1838 (0,0,0) #2 (1,1,1) » Ly

Al

3 5 7 9 11

#wid (1,1,0) #2 (2,0,1) -
P 3 P EE%EQ’JEEY{’J‘{E—% i °

=8 P ALy LB P A& Ly E o

13 15 17 19

173671447200 7900 1764 3136 5184 8100 _®)

(Ao Er) -



